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Note : First 15 minutes are allotted for
the candidates to read the
question paper.
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Instructions :
i) All questions are compulsory.
i) Illlustrate your answers with
labelled diagrams wherever
necessary.

iii) Marks allotted to cach question
are mentioned against it.
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( Multiple Choice Questions )
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1. Choose the correct option and write in

your answer-book :

A) The name of the plant pollinated by

water is

i)  Hydrilla

ii) Pea

iti) Citrus ’

iv)] None of th;sc. ‘ 1
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B) Which one of the following is a false

fruit ?
iy Apple ii) Grape
jiij Mango iv) Pea. 1

C) The number of chromosomes in

endosperm is

) 2X

i 3X

im) X

iv) None of these. i

D) How many meiotic divisions
are required to produce
112 microspores from microspore

mother cells ?
i) 56 i) 28

i) 112 iv) 224. !
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W) wam yew] @ uw Al C) How many chromosomes are foung

2
g-gu | in humans ?

]
T) WA & wwifaar e & a7l : \

D) Mention the names of any t

wifa | 2 e

disecases caused by parasites, 1
3. A) Define  predator and - prey nnd
explain in Drief about herbivorous E) Write two aims of establishing the

predators, 2 . National parks. 1

( fq &g Iwdg we )
( Very Short Answer Type Questions )
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B)  What do you mean by commensalism ?
Give one example. 2
C) What is adaptation ?  Explain that

halophytic plants are adapted to
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their environment, 2

- D) Draw a labelled diagram of a sperm
of man. 2

E) Describe the Mendel's law of
dominance. 2
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{ Definite Answer Type Questions )
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Write the name of the plant
pollinated by insects. 1
Mention two methods for controlling
sex transmitted infections. | 1
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( Short Answer Type Questions )
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Prove that DNA is a genetical

material. 3

Write short notes on the following :
1% + 1%

i)  Mutation
i) RNA.
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Describe the importance of seed and

fruit development. 3

Explain in brief about biopiracy and
patent. S
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Draw a labelled diagram of L.§, o

an orthotropous ovule of an

' ax;giOSPCMic plant and describe in

brief. ‘ 3
What do you mean by symbiosis ?

Explain it with suitable examples. 3

Write about four characteristics of

living beings. 3

Write short notes on the following :

1% + 1%

1) Role of leguminous plants in

increasing the fertility of soil.

i) Vasectomy.
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frr i @ frdl oY W foomd fefn : 2% + 2% iy e
i) m 7. Write in  brief the contribution of
i) = afy biotechnology in human welfare. 5
OR
iii) Ueher TRt M (THH) |

Write short notes on any two of the
8. What is ecological adaptation ? Prove

following : 2% + 2Ya
that on the basis of anatomical

i) Bt ( Bacillus thuringiensis )
characters xerophytes are adapted to

. ‘ i) Insulin
their environment. S )

ili) Gene therapy.
OR ) Py
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Describe the development of male
gametophyte of an angiospermic

plant with the help of diagrams. 3

Write short notes on any two of the

following : LY2 + 1%

1)  Colour blindness
i) Sex determination in honeybee
iii) DNA fingerprinting.

What is chromosomal disorder ?

Describe their features in brief. 3

( forga ST we )

( Long Answer Type Questions )
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Give an account on microbes as

biocontrol agents. 3
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What do you . ?
Write short notes on any two of the y Mmean by environment
following : 2Ya + 2% Suggest some suitable measures to keep
it neat and clean. 5
i)  Allergy
' e 3
i) Mammary gland

348(GS) - 1,65,000
iii) Single Cell Protein ( SCP).
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9. Define biodiversity and write its

5
importance. .

OR
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